/ 10.5 Two-Column Proofs and Application Problems

Two Column Proofs
( etimes you will be asked to give a more formal proof, which is traditionally done in a two-column format.
The left column is where you state what you know, and the right column is where you state how you know it.
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Questions to ask yourself when writing a similarity t‘iV.OfOIETﬂ propf:
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1) What do | know before | start any of the math? (This is your given information)

2) Can | show that any of the angles are congruent?

o Ifyes, how?

| 3) Can | show that the side lengths are proportional?
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( ‘ e Once you set up the fractions, what are the names of the sides you used?

| 4) What similarity theorem fits the situation? Write the similarity statement and how you know.
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We are going to use the informal proofs to write two-column proofs. Nothing different is happening than

what you did in 10.4; you are doing the same thing and then justifying each step that you took.
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The first thing that you should list in any two-column proofis the %\\m information. \
1) Prove that the two triangles are similar.
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2) Prove that the two triangles are similar.
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3) Prove that the two triangles are similar.
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Application Problems

1) Atree 24 feet tall casts a shadow 12 feet long. Brad is 6 feet tall. How long is Brad's shadow?
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) A tree with a height of 4m casts a shadow 15 m long on the ground. How high is another tree that casts a

shadow which is 20 m long? 4, \5

NN

3) A girl 160 cm tall, stands 360 cm from a lamp post at night. Her shadow is 90 cm long. How high is the lamp

Big idea of word problems
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